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26. The leading cause of blindness in the world today (not counting accidents) is a dietary
deficiency of

A. vitamin A

B. vitamin D

C. vitamin E

D. vitamin K

E.bothaandc

27. Low density lipoproteins (LDL) are the principal transport vehicle for in the blood.
A. cholesterol

B. phospholipids

C. glucose

D. triglycerides

E. free fatty acids

»8. Thiamin, niacin, and riboflavin work together in important biochemical pathways that
A. release energy from carbohydrate, fat, and protein

B. control visual process

C. synthesize collagen

D. promote absorption of calcium

29. All B vitamins function as
A. sources of energy

B. coenzymes

C. cofactors

D. enzymes

30. Scurvy is due to a deficiency of
A. vitamin C
B. thiamin
C. folate
D. vitamin B-12
E.bothaandd

31. Osteoporosis
A. is caused by a dietary lack of vitamin D
B. indicates the person has been taking certain medications that interfere with normal bone
metabolism
C. is a general term for a disease that results in reduced bone mass
D. is another name for osteomalacia
E. is caused by bone tumors




32. One consequence of insufficient intake of dietary carbohydrate is a condition called
ketosis. Ketosis may result from

A. starvation

B. a diet of less than 50 grams of carbohydrate per day

C. untreated diabetes mellitus

D. dehydration

E.a,b,andc

33. A diet high in fat, low in dietary fiber, and excess food energy may be an important
contributing factor in the development of

A. phytobezoars

B. dental caries

C. lactose intolerance

D. colon cancer

34. The RDA's are based on

A. average requirements for a population

B. precise numbers derived from carefully controlled experiments

C. average needs, plus increased amounts sufficient to meet requirements for nearly all
variability in the population

D. the fact that every nutrient must be consumed every day

and muscle cells to take up the extra sugar.
A. cholecystokinin
B. cortisol
C. glucagon
D. insulin
E. epinephrine

with reducing iron?
A. Phosphorus
B. Calcium
C. Vitamin A
D. Vitamin C
E. Pyruvic acid

37. The human brain and other nerve tissue use mostly as fuel.
A. galactose
B. glycogen
C. fructose
D. glucose

35. The foods most often contaminated with aflatoxins are
A. cheeses made from unpasteurized milk
B. meats from wild animals such as bear and deer
C. fish and shellfish
D. wheat, corn, peanuts and tree nuts

35. As blood glucose levels increase, is released by the pancreas to allow fat (adipose)

36. By reducing Fe+3 to Fe+2, nonheme iron is better absorbed. Which nutrient is associated




39 Which of the following components of a meal is last to exit the stomach?
A. carbohydrates

B. proteins

C. alcohol

D. fats

40. After a period of prolonged fasting (starving), nerve tissue changes it fuel requirements
A. and glycogen becomes the primary source of energy '

B. so that glycerol becomes the primary source of energy

C. and uses amino acids directly

D. so that ketone bodies replace glucose

41. Bulimia

A. means episodes of eating binges, followed by attempts to purge food from the body
B. is difficult to identify since most bulimics try to keep their symptoms secret

C. unlike anorexia nervosa, is not a problem for men

D. and anorexia nervosa have symptoms that overlap

E.a, b,andd

42. Cross-contamination of foods occurs

A. when perishable foods are kept at room temperature up to two hours

B. when two or more food handlers are working with the same food

C. when two or more different microorganisms are growing in the same food

D. when a utensil contaminated with a microorganism from a previously handled food is
allowed to come in contact with a second food and contaminates it

43. A clinical symptom of iron-deficiency anemia is
A. intolerance to cold temperatures .

B. apathy

C. pale skin

D. fatigue

E. all of the above

44. The pellagra epidemic of the early part of this century confined many victims to
A mental institutions
B. to wheelchairs, they lost their ability to walk
C. wearing wigs as most lost their hair
D. wearing dentures, most lost all their teeth

45. Beta carotene is also called

A. chlorophyll

B. retinoic acid, retinal or retinal
C. calcitriol

D. provitamin A

46. The maintenance of mucus forming cells depends of adequate amounts of
A. vitamin K
B. vitamin C
C. vitamin A
D. vitamin D




+7. Spinach has a very high iron content, but low bioavailability. The iron in spinach is i

form of
A. elemental iron
B. myoglobin
C. nonheme iron
D. hemoglobin

because
A. it is absorbed and then reexcreted through the small intestine

B. the calcium is complexed to phytic acid so it can't be absorbed
C. bile acids carry the calcium out of the body by way of the feces (cont.)
D. the calcium is complexed to oxalic acid so it can't be absorbed

49. The most bioavailable form of dietary iron is
A. heme iron

B. nonheme iron

C. elemental iron

D. bothbandc

s0. A reliable source of dietary iodide is
A. iodide-fortified salt

B. seed oils

C. sea salt

D. freshwater fish

n the

48. Many green, leafy vegetables are high in dietary calcium, but the calcium is unavailable
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FEre EUEHTERER - (15%)

. FMBEUTHERYES BEmEAVEE: (10%)

(a) Protein efficiency ratio
(b) Biological value

(c) Chemical score

(d) Limiting amino acids

(e) Complementary protein

4. FRENLHBERRGRZ FEBUREEMBEFEE(CREER - (10%)

SRR MY BB R A bR B R N AT RE RV RN BT H (15%)

(1)lactate dehydrogenase (2)creatine kinase (3)oral glucose tolerance test
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